,

BUTTON SOCKET SCREWS 5/16 x 1-1/2
SPLIT LOCK WASHER 5/16

FLAT WASHER 5/16

INTERNATION

FURMITURE

AL

1. PLACE THE COVER AND BASE ON A FLAT SURFACE AS
SHOWN IN THE PICTURE.

2. ALIGN THE BASE WITH THE HOLES AND INSERT THE
SCREWS AS SHOWN IN THE PICTURA "A"

3. INSERT THE FURNITURE LEVELERS IN THE BASE AS
SHOWN IN PICTURE

4. WITH HELP, TURN THE TABLE 180°

DESCRIPTION #

ASSEMBLING INSTRUCTIONS e arwnererare |4
LOCK WASHER 4

|-RNDTP-E003 rlen :

1

ALLENKEY 3/16




ITEM DESCRIPTION

1TORO0S5 |TORNILLO ALLEN CABEZA BOLA 5/16 X 1-1/2"

1RONOO3 |[RONDANA PLANA 5/16

TRONOT1 |RONDANA DE PRESION 5/16

ITHEROOT  |NIVELADORES 5/16 DIAMETRO 50MM

THER251  |LLAVE ALLEN 3/16

ASSEMBLING INSTRUCTIONS

g Bﬁ INTERNATIONAL
I-RNDTP-E003



